PART - | o | T Tl
""" GENERAL AWARENESS/ N
. ohann Gutenberg developed the first-known g /1 ; <75 BT 39 g T WehITITd TEet
printing press in Germany. Which was the l UL & Lﬁ?
first book he published in that press ? | TE4 #H
(1)  The Republic E 1 = Rafec 7
(2) The Bible | B T
(3)  The Odyssey ! 3 = sifedft  «
(4) The Magna Carta | (4) A
/ 5
2. What do we call the process through which | 2,/ S8 W %1 31 el Sl ¥ o wreAm 4 S
bacterial and fungal enzymes degrade a sttt s & TARH FIE F1 aAfd [T
detritus into simpler inorganic substances ? srepreife el & ST U €7
(1) Catabolism A1) sT
(2) Humification () FEEE
(3) Fragmentation (3) @EIE x
(4) Leaching () framed =
3. Students’ and Teachers’ Holistic d/ WW@%W%'@W@TW
Advancement through Quality Education 1 wato wfa () T
(SARTHAQ) is an
(1) Indicative and suggestive NEP (1) SR e & fore wgia e ifa smat=ra
implementation plan for Higher Are1 1 Hiass iR T
Education
(2) Indicative and suggestive NEP J2)  Tptt fen % faw i fuen Hifa i
implementation plan for School RIEE R IRE A A LG
Education
(3) Indicative and suggestive NEP (3) deten! foranm & foau asta foan Hifa
implementation plan for Technical FEETT A &1 39S 3R e
Education
(4) Indicative and suggestive NEP (4) fq’,ﬁ-llT:F foen & fow A=ty foan ify
' ‘implémentation plan for Legal FHrafaE dree &1 s iR fres
Education ' kY '
2 (™ R2
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According to the Nationg] Educ

A aﬁo .
2020, by which year the Gpogq Er:o?;hcy %
ent

yocational educanp? is to be i
50% ?

Ratio in higher Educatiop

1) 2040
2) 2035
(3) 2050

(4) 2030

Which team won the 2023 Women T20 World
Cup ?

(1) Australia

@) England -

(3) South Africa E: \

4) India

‘Milpa’, ‘Roca’, ‘Ladang’ are different names
of which of the following ?

(I) Open-cast mining

(2) Earthquake waves

(3)  Rain water harygstmg
(4)  Shifting culhvﬁnﬁm

mgm
PGT-GEO-2023 @ﬂ -

N

}/ T faan

ﬁﬁzozo%azgm,ﬁwaﬁﬁ

Wﬁm%mﬁmﬁmw

1 3T 50% ammaﬁmaw%?

(1) 2040
A2) 2035
(3) 2050 +

(4) 2030

5./ ad 2023 H mRifea wfgen @ # F-20 fava

9 F forstan 39 F H 772

6,/ ‘faear’, der’, ‘e, Freifena 3 9 v -

TR M §?

(1) faga @
(2) Y9 R R
(3) a6l S e

“) TR HiY

R2



Who was awarded the Sahitya Akademi L'}ﬁ Y 2022?’[?@315@ Tl T fem

Bhasha Samman 2027 ?

(1)  Chungkhan Yashawanta Singh
(2) Shashi Nath

(3)  Uday Nath Jha

(4) Krishna Bhattacharya

Assertion (A) :

Both India and the USA have bicameral
legislature.

Reason (R) :

The upper house of the legislature in both the
countries has an equal number of seats
reserved for different states.

Choose the correct answer from the codes
below :

(1) Both (A) and (R) are correct
(2) Neither (A) nor (R) is correct
(3) (A) is correct but (R) is wrong

(4) (A) is wrong but (R) is correct

mgE
PGT-GEO-2023 %

™ ?

(1) e aye e
(2) vy

(3) SEEUE

(4) FoN vEEE

AR (A) :

I 31 6., et A & feerta farres
.

T (R) :
2 2 3 et 9 e # v v
Tl & o, mmfig e 1 W v g

(1) (A) 3R (R) I w@ ¥

(2) W (A)TH (R) T T

M) (A) TR (R) o

@ ()T %fﬁ (R) &t ¥

R2



9.

10.

Assertion (A) :

As part of the major reforms to Union
Budget, the date of budget was advanced to
1 February for the first time from the Budget

, for Financial year 2020.

Reason (R) :

The advancement of Budget date has been
done to enable early completion of the Budget
cycle.

Choose the correct answer from the codes
below :

(1) Both (A) and (R) are correct and (R)
explains (A)

Neither (A) nor (R) is correct

(A) is correct but (R) is wrong

(2)
(3)
(4) (A) is wrong but (R) is correct

Which of the following statement(s) is/are
correct about ‘India State of the Forest
Report’ (ISFR) ?

(A) The first State of the Forest Report was

published in 1947.

(B) The report is based on the biennial
assessment of India’s forests carried out
by Forest Survey of India (FSI).

Based on the ISFR 2021 report the total
forest cover of the country is 21.71% of
the total geographical area of the

©)

country.

The ISFR 2021 report shows a decrease
of forest cover as compared to the

(D)

previous assessment.

Choose the correct answer using the codes
below :

(1) Only (C) and (D) are correct
(2) Only (B) and (C) are correct
(3) On.'ly (A;)/;(B) gﬂd (C) are correct
(4 J Only (B), (C) and (D) are correct

EE
bl

PGT-GEO-2023 {55

| 9.

T TAARR S TR

MRS (A) :

Fg e ¥ o2 gur fau 9 ¥ e F o
ad 2020 F I TEHIH F G99 § qEe! 9N
F1e TR TR ST Y A 1 wEd i
|

&HIT (R) :

woe T 1 A T2 w0 e 0 A F
e s aiE § gd fuifa # w 2

= fou T e ¥ @ W@ = A

(A) 3R (R) 391 T8 ¥ #7 (R) 9 (A) =1
A Bl © |

T (A) TE (R) TR

(A) TE ? fofg (R) T 2|

(A) TTerd ® foieg (R) &1 © |

)

(2)
©)
(4)

‘<fean W 3ATE T Hie TR (3T, TH.T%. 3R, )
¥R Freifhd § A H /A FTHAEA /T ?

(A) TEeh B2 Iih T wie fu ad 1947 F
TeRTiTd g8 ot |

7% i IR a9 Faer0r (6. TE.3TR. )

g1 fohT TTu R =41 st gaTfie qedisa

T ea § |

SE TH.UE. AR, & 99 2021 & @R &
SR T 237 % ol Ariifers &5 H121.71%

FATSSIEd § |

(B)

4C)

3E. T, TH.3, 2021 & Yfqacd ° fusa
ek St gorl § Srssicd & ° 39
T TR |

Y(D)

Fad (C) 3T (D) & ¥
e (B) 3R (C) W ¥
Fac (A), (B) 3t (C) Wt ¥
Fael (B), (C) & (D) wét ¥

= (1)

2)
»(3)
»(4)
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PART - Il / ¥TRT - Il
REASONING ABILITY / 96 &9l

1. Three statements are given followed by two | 11/ 7 o f&u mu ¥ fords 1 & fresd 1 sk g

conclusions I and II. Assuming the |~
statements to be true decide which of the
conclusions is/are definitely true.

|
|
|
|
Statements : §
1. M>Q i
2. P=M E
3. N=M 3
Conclusions : g
L Q=N |
II. Q<P §

(1)  Both conclusions I and II are true.
(2)  Neither conclusion I nor 11 is true.
(3) Only conclusion I is true. |

(4) Only conclusion II is true.

12. Eight friends J, K, L, M, P, Q, R and S are
sitting around a square table in such a way
that all are facing towards the centre of the
table. ‘L’ sits in the middle of the side. ‘P’ is
second to the left of “M’. ‘Q’ is exact right of !
‘K’ and is sitting in the middle of the side. ‘P’
doesn’t sit with ‘L". ‘M’ sits exact right of ‘J’.
Two friends are sitting in between ‘M’ and

‘S’. ‘R’ is second to the left of ‘J". ‘S’ is exact
left of ‘L’. ‘K’ is third to the left of ‘L.
Who sits fourth to the right of ‘K’ ? i
(1) R
(2 S
@ I 5
4 P ;
e
PGT-GEO-2023 EI% 6

few e 81 el =1 w7 Ad g g% i Fif
o ST frehel & @ =6 @1/@ ffved €99 oy
2/8?

U

1. M>Q

2. P=M

3. N=M

frreent .

L. Q=N

II. Q<P

(1) fr=ed 1 R 11 9 g €

(2) @ frepd [ g ® o T & frswd 11
(3) o f=pd [ W ®)

44)  FIa frepd 11 9

@ e a3 J, K, L, M, P, Q R 3R S ©F amisr

AN % W SR 39 TR @ 93 ¥ fF wit w1 9w
TS % h= B AT L F S W qaT g
g1 P, M % 9 R SR R W }11Q,
‘K’ % THeH TR SR ¢ iR gs1 % ot § Aa
MR P, L FHLTH IR M, T F
Tehed SRff SR AT | ‘M 3RS & o= 2 fiyx
AR, & I IR WA R ARG,
‘L’ % TaheH aRl SR 3T 1°K, ‘L % R 3R
AT T W3 R

‘K o Tl SR =S T W 91 R 2

(1 R
@ S
3 ]

P

(4) S (Q‘

R2



13.

14.

Given below is a question, followed by two
statements I and II, each containing some
information. Decide which of the statements
is/are sufficient to answer the question.
How is Kushal related to Meenakshi ?

Statements :

I.  Kushal is only son of Meenakshi’s

brother-in-law.

II.  Garvita is Kushal’s only sister.

(1) Both statements I and II together are
necessary to answer the question.

(2) Both the statements I and Il together are
not sufficient to answer the question.

(3) The statement I alone is sufficient to
answer the question while the
statement II alone is not sufficient.

(4) The statement II alone is sufficient to

answer the question while the
statement I alone is not sufficient.

Refer to the following letter sequence and

answer the question :

(Lef) SBTMRESICZYOWAPDFH
G UL (Right)

Which letter is fifth to the right of the twelfth
letter from your right end of the given

sequence ?

1 P
2 W
3) R
@ X

PGT-GEO-2023 &

r}/
|
|
|
|
|
|

413 v v fen T & o A & e 1 2R
1 frr | for weid § 59 w4 T €
7% fiofa wifs fof 1 T1/8 FoF 997 H1 I
23 ¥ o A B/ 2

el 1 HATER & HA 2

e

I. W,rﬁm&ﬁéﬁa/émmmﬁgﬂ%l

ke, FYA H THAA TEA € |

FoA 1 3R F9 11 gH1 et 79 &1 3T
Y ¥ fou a2

Fo 1 3l Fu= 11 1 Tt t 999 &1
IR Y F foe ot & €

Fo 1 3THa W9 1 I A & fefg waE
¥ SafF HUA 11 3Thel T3 1 ST & &
fore yae TE €|

o 11 3Thel W9 F1 I 24 & fae vt
% Sefehr FYF [ SThel T T IW A &
ferg yata =& 2

II.

1)

(4)

14/ FrefafEd ST &1 ST B AR ¥& &

I AT

(sm¥) SBTMRESICZYQWAPDFHG
UL (3)

feu T FA § MUH! T AR | TGS &R &

et 3R el SER A W ?
A1) P

2) W

3) R

4) X

R2



15.

16.

g8
PGT-GEO-2023 &

Given below s 5 question, followed by two
statements I and 11, each containing some
information. Decide which of the statements
1s/are sufficient to answer the question.

Who is to the immediate right of ‘J’ among

five friends J, XK, L, Mand N, facing the
North ?

L. ‘L is third to the left of ‘K’ and T is
second to the right of ‘L.

Il “K’is to the immediate left of ‘N’ who is
second to the right of J’,

1)

Both statements I and II together are
necessary to answer the question.

(2)

Either statement I alone or statement 11
alone is sufficient to answer the
question.

The statement I alone is sufficient to

3)
answer the question while the
statement II alone is not sufficient.

The statement II alone is sufficient to

(4)
answer the question while the
statement I alone is not sufficient.

‘M + Q" means ‘M’ is the wife of ‘Q’;

‘M —Q" means "M’ is the father of ‘Q’;

‘M x Q" means ‘M’ is the daughter of ‘Q’;
‘M +Q means ‘M’ is the son of ‘Q’.

If A+Bx]J+U-=D, how is ‘B related to ‘D’ ?

(1) Sister
(2) Aunt
(3) Mother
(4) Brother

J

/3 e e fean T € e A6 A FAA ] s

11 e §) for weieh B F9 THER @

g fofa i fof H 91/F FI T IR

A % forw vt &/ 7

ufg firli ], K, L, M 3R N,Ghmm"fafnﬁ%*

w93 3, 4 Ay % when Tl AR FH da

€7

L ‘L, K % ardff ol diet s 2 sy,
‘L % gt iR qEY TH W T

I K, 'N’ % UsheH a4 &R & 5 /) & gt
IR T WWH R F |

FYT-1 R HH-11 2HI, A 997 =1
IW A F fou aavas §

T A FYA-1 NP HgA FAA-II TFA
¥ 1 W <A F faw w1 2

)

$2)

Fo-1 3RS T¥ 1 IW 3T F fore Tt
¢ Ve FUA-11 3Thel W9 &1 I A 5
fore vt = 21

FUA 11, 3ol U9 &1 I 2 F foe ugi
§ Safeh HUA-1 3Fel I 1 IW A H
fore e =& ¥

®)

4)

‘M+Q ® i ® M, ‘Q B ueit
‘M-Q &1 39 & fF ‘M, ‘Q &1 firan &
MxQ 3 fF M, ‘Q H TR
M+Q ®:ad R fF M, QF @R

I A+BXJ+U-D ® @ ‘B’ 1 ‘D’ § 7
ey ¢ ?

Mn) =&
(2) ==
(3)
(4)

R2
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18,

WO statements labelled as Assertion (A) and

Reason (R) are given. Consider-both the

statements carefully.

pssertion (A) : Fake news spread.in world
problem, '

The internet is ,-sbjﬂrce of all
fake news.

Reason (R) :
Gelect correct answer with the help of code.

1) (A) is false but (R) is true.

2) (A) is true but (R) is false.

(3) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(4) Both (A) and (R) are true but (R) is not
the correct explanation of (A).

Three statements are given, follo*__)vga:;by three
conclusions numbered I, Il and IHiissurmng
the statements to be true, even I.fthey seem
to be at variance with commqr-x__‘ljjr._- known
facts, decide which of the comclusions
logically follow(s) from the statements.

Statements :

1. All pinks are scarlets.

2. Some scarlets are blues.

3. No blue is brown.

Conclusions :

. Some browns are blues.

Il No pink is brown.

Il Some scarlets are pinks.

(1)  Only conclusion I follows.é. |
(2)  Only conclusion II foIlowé'.“f :__:
3)  Only conclusions I and II gollaw
) Only conclusions II and IIL%HOW

CJ

N2)

1% ﬁ%a‘rwﬁqm%aﬁhﬁmﬁmﬁ“

o () 5t | 2

¥ fqam #ifsw )

s (A): v # FE TN e T
riofe e 3 T €

mgﬁq&@aﬁmaﬁﬁ

(4

) fag T A e @ W@ IR T

H |

(1) (A)w%m(a)aﬂ%u

(A)nﬁ%ﬁﬁ(a)m%l

3) (A)aﬂT(R)‘&ﬁfF?f%e»ﬂ'{(R), (a) F
e e € |

@) (A) 3R R) T =@ & Y (R), (A) F
o =men e R

W (R) :

18/ 3 4 o feg g # forreh g A e 111

s 11 fou o ¥ ST R MY FA B W
m%aﬁéwmaﬁﬂﬁmmﬁﬂﬁu
o Frolr i fr feg o fremdt § & FN
/& e @ A w0 § frewer &/8 2

YA
1. @t e, @@ O (Sfed) ¥
2. F9 @ T, A ¥

3.

1 oft e s T R
fre
rI, ﬁ*ﬁ’ﬁ@%l

(L @ oft e s R

I %O o (Sfed) Tt €

(1) ot foremd [ freperan B

ot frehd 11 frareran )

(3) o frewd 1 @i 1 frevema €
(4) e frewd 11 R 111 Freem ¥

R2



19.

20.

Which of the following Venn diagram
represents the best relationship between

Teachers, Sisters, Females ?

(1)

(3)

4)

®O®OE

Study the given diagram carefully and L}(

answer the question. The numbers in
different sections indicate the number of
persons.

Salaried
—_—

Married

Under 35 Years

How many ‘Under 35 years’ people are
‘Salaried” but not ‘Married’ ?

1) 12
2 13
(€)
4 8

BgE
PGT-GEO-2023 E’%ﬂ 10

Frefefian 4 & 1 91 371 9 Py
e et dey 7 frefr wm §2

) “‘0’

(2)

T IR S| Tl w2 & & wem s

Y
8 e
17
3594 ¥ %
'35 7 Y ' U fohert st ¥ S e
& fofg “farafem’ 8t &2
12
@ i3
3) 5
e

N R2
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A statement is given followeq
ConcluSiOI'lS numbered |, I, 1
ASsumjng the statement tq be try
which of the conclusiong ig [ava

and 1v, §
e, decide |

defiJ'litely !
true-
statement:C = R>D <E = g,p
Conclusions :
L C>D
1. Ks<D
m. P<E |
v. E2R

Only conclusions I and IV are true.
Only conclusion IV is true,
Only conclusions I and II are true.

Only conclusions I and III are true.

There is a family of six members D, K, L, M,
N and P.
Businessman, Executive, NGO worker and

They are Lecturer, Artist,

Singer but not necessarily in the same order.
There are two married couples. ‘N’, a
Lecturer, is married to the Artist who is the
mother of ‘L’ and ‘P’. ‘P’ is pursuing singing.
‘D’ has one son and one grandson who is an
Executive. ‘K’, the Businessman, is married
to ‘D’ Of the two married ladies, one is 2
NGO worker.

Which of the following statements is true ?
(1)
(2)

‘M’ is the Artist.
‘L’ is son of ‘D’ and ‘K.

‘K’ is the wife of ‘D’.

() ‘M is the Executive.
O]

i 11
5}

S

by four | 21/ o oA e T & forers g =R R L

17 3R [V few T ¥ oA ) 6 G €T
ot =ifere fo g o gl & FH A/F
forerd fiftem w9 @ 9 B/ 7

EW:C=R>D£E=K>P
ﬁﬂﬁ:

j.

]

I. K=D

C>D

P<E

E=R

Fae Fred 11 @R IV EA €1 7
ool frewd IV 5@ 81 7

Faa freed 13RI T 1,
Foe frresd 1 SR I 9 2 |

27/ BT D, K, L, M, N 3R P a7l T IRER
& 2| 3 IR, FAER, FRIS, TIEH, TSI

FEwd iR TEw € g 3 T wE A A W
TEvas el ¢ | < faanfed Sirs €1 =@ ‘N
F T T FAFR Y g ¥ S L AP A
H@ g1 ‘P T & Yl W @RI D FTH
T 3R TF Ui § S U g § 1K T
Frer € foae foare D | gon €1 @ foafea
Hfeensli § | Th TSl wEw 2 |

fefefad § § SF W wYF Wé g ?
‘M’ T HeTHR B |

(2)
3)
(4)

‘L,'D 991 'K H R
JK?' ;Dlaﬁqﬁ%l
‘M’ TS Y9 T

R2



23. Lakshmi starts from point ‘A’ and travels | /ﬁ&tﬁ ‘A’ ﬁﬁ'\ef gl & A § #R ‘q"f&maﬁ

24,

2km Southwards to a point‘Z’" and then tums
right and travels twice that distance to reach
"Y'. She then turns left and travels five times
the distance she covered between point ‘A’
and ‘Z" and reaches point ‘X’. From there
she turns left and travels 4 km to reach
destination ‘B’. What is the shortest distance
between the points ‘A’ and ‘B’ and what is
B’s direction with respect to ‘A’ ?

(1) 8 km, North

(2) 8 km, South

(3) 12 km, North

(4) 12 km, South

Seven children K, L, P, R, T, X and Y are
sitting on a straight bench facing towards
North. "X’ is sitting immediately left of ‘Y".
“T" is the immediate neighbour of ‘R’ and ‘P’.
Neither ‘X" nor ‘Y’ are the immediate
neighbours of ‘L’. ‘P’ is sitting second to the
left of ‘L,

Who is sitting at the second position from the
right end ?

1 K
2 P
(3 R

4 T

PGT-GEO-2023 (5

|

12

24/

3 2 Fof A, et ‘27 TG TR TGS ¥ sy,
TR S el & qen vt SR el T o 5
AT g T B Y fog W IR ¥ ey
G e ST SR Pt @ 991 A 7 famg i
o T F W gt F o TG T g ey
forg W agedt €1 el @ 9 A S gt § oy
4 TR, JEH B T T T 1 A7 oy
B’ foargail & offe =g ot forat € 9o ‘a3
B fa fen & &2

(1) 8fwr, W

(2) 8fw., fam

(3) 12fwd, W
A 127, <

A S K, L, P, R, T, X 3R Y & @it 9 |
ST AN e T 93 ¥1 X, Y F wEem
T SR S ¥ T, R OSR P w1 figew
T ¥ X ek vy ‘L' % & freaw vt
TERIP, ‘L 3 ol 3R gt o e

T S T A R E Aar 2

(2 P
3) R
4 T

R?



ot feu o & foFER AE T foed

Three statements are given, follow _
18, ; 2 ed
15 conclusions numbered I, 11, [y by four @ A _ e A ol
asuming the statements t and 1v. L, 1 i 1y fae e AR ol
seem to be at vari © be true, even if m%mawmamﬁfﬂ?@q l
they ; . Varlance with commonly 3T 31 oot A £ fau 70 ﬁrzﬁ‘tﬁ 44 1
kmlfwn a;: s, decide which of the conclusions ol/a Fori B aifdd =4 4 frFam 2/7 7
Jogically follow(s) from the statements ?
statements : ‘ —
1. All boats are fishes. , vt 7 Tt T
2. Some fishes are rivers. 2. FD et Afaa ¥
3. Some rivers are sailors. 3. F9 et e £ |
Conclusions : frerd :
. Some sailors are fishes. A F9 o TRt £
. Some boats are sailors. I F97d e & |
[lI. Some rivers are boats. O s A
IV. Some fishes are boats. IV. 9 Hasferdl 1 €|
(1) Only conclusion IV follows. (1) et frerd IV Feher 4
(2) Only conclusions I, II and IV follow. (2) 9 frerd 1, 11 3R IV Feperd ®
(3) Only conclusions I and I follow. (3) e freed 1 iR 11 fehetd 2|
(4) Only conclusions II and III follow. (4) FIA Frepd 11 3R 111 Fererd €|
%. If North becomes South-West, then what will | 26 'qﬁ_;ﬁ-{ - ff&‘{UT—EIEQEIH A S @A
West become ? b e
FeR-ufyEH
(1) North-West ] @
2) -
(2) South-East 2 i
3 ®
(3) East ®)
4 ITH-E
(4) North-East ‘ @
13 R2



27. Two statements labelled as Assertion (A) and

Reason (R) are given. Consider both the
statements carefully.

Assertion (A) : India has the potential to

make

its Handicrafts

industry a very flourishing
sector,

Reason (R) : India is a home to a very
large number of craft forms

including textiles.

Select correct answer with the help of code.

(1)
(2)
(3)

(A) is false but (R) is true.

(A) is true but (R) is false.

Both (A) and (R) are true and (R) is the
correct explanation of (A).

Both (A) and (R) are true but (R) is not
the correct explanation of (A).

(4)

28. A patient has been given a medicine schedule.

There are eight medicine capsules.S, T, U, V,
W, X, Y and Z. Which have to be taken each
day based on the following conditions :

(i)  Capsule ‘S’ must be taken sometimes
before ‘T and ‘W,

(i) ‘T must be taken immediately before
"y

!

(iii) Fourth capsule must be ‘U,

(iv) ‘Y’ must be taken immediately before
X

(v)  “Z' mustbe taken immediately after ‘W,

(vi) ‘Y’ is the first capsule to be taken.
Which of the following statements is false ?
(1)  The sixth capsule must be ‘V’.

(2) ‘T is taken immediately after ‘'S’,
(3) ‘X is taken before ‘s’
(4) ‘U’ must be taken between ‘S"and 'T".

=
PGT-GEO-2023

2/ S & o e T E R e ()
T R (R) R H T S F
¥ fomm s | s

AfRoT (A): 9T F T
! T 1 U I 4wy
Ht &HAT € |
g e 1 ey s #

9 U T Fe FT v & v I = T
|
(1)
()
®)

(A) T € W (R) T& £

(A) W&l € 9 (R) TTerd 2|

(A) ¥R (R) 3 & € @i (R), (A) F
& e ¥

(4) 3R (R) T wd ¥ fig (R), (A) %
el =3 78 3

8e)

ywmﬁ@mmﬁﬁlwﬁmw
“SSTUV,WXY3Rz & 5
ﬁwﬁf@asﬁf%wmmﬁ?maﬁ
g
(i) W*S’Hﬁ*'f’aﬂvwﬁmwﬁ

feran s

‘T’ﬁ'vﬁmwﬁﬁmm

ﬁﬂTW’U’ @?THT%Q,
Y @ X %mwﬁmm

(1)

(iv)

(V) "Z'® W F T = forn s
(Vi) Y S Wod wedt forem
ﬁwﬁmﬂﬁﬁqmwm%?
£1) W%Wm‘v*%’r—nﬂm

o ) T HS F T e e
B) XS I foren v &
A4) VRS SR T ¥ e foan s e
14
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29-

mother Kavita is the daug"ﬁ'ter-in
Anand. How is Sudha related % R 5

(1) Paternal grandmother
Maternal grandmother

Sister

Mother

30. Select the letter cluster that will replace the

question mark (?) in the following series

BVU, ZXQ, XZM, VBI, TDE, __2
(1) FAR
(2) FRA
&)

RAF

(4)

BeE
PAT-GEO-2023 %&!

RFA

sudha is the wife of Anand, iy, ;
mother of Gaurav. Any is f-hed aughlts th(;
i i | er of 1
Ravi, who 1s the brother of ﬂi‘)’
(edyan. Anuy’s

law of

E

15

S

frferfaa sfaen § v o (7) % TIH T M
I HER TG F1 7 Hl

BVU, ZXQ, XZM, VB, TDE, _2RE ft

(1) FAR

(2) FRA
RAF

()

RFA

R2



PART - I / YT - 1N
KNOWLEDGE OF ICT / ICT &I 911

31.  McAfee Plus is an example of :

\/(1) Open source software

(2) Programmjng Language

()  Anti-virus

(4)  Application software

32. Which of the following software you

preferred most to design an animated

multimedia presentation on the topic “Benefits
of Renewable Energies’ ?

(1) Microsoft Excel

AZ)  Microsoft PowerPoint

(3)

4)

Microsoft Edge
Microsoft Word

33. Which of the fo].lowing cloud storage service

owned by Microsoft ?
1)
1_/(23 Google Drive
(3)
(4)__One Drive

mgE
PGT-GEO-2023 %

Floppy Drive

iCloud

'(@ AFF @ (McAfee Plus) fFad = Ry
®7?

(1) #1197 @d |i9ed9T (Open sourc

software)
(2). FrnfHT A& (Programming Language)
(3)

(4)

Tt 9P (Anti-virus)

RECIERIE M1 o
software)

(Application

"t it fequae Tt
3 Ffefag U q BH W GRS F1 ga9ifus
g ffega 3 2

(1)¢ - FEShIGTR TS (Microsoft Excel)

(2)':[1'53??“1‘“ qIEETET  ( Microsoft
"ﬁi’owerPoint)

©)
@

W TS (Microsoft Edge)
HEHHER TE (Microsoft Word)

) ;FIOPP)’ Drive
(2) ;';__:.:;%'_;oogle Drive

(3) iCloud

16

5 ®

One Drive

R2



3. Out of the following optj o1, the

combination of shorteyt
€ys to Co
PY Some

selected text in most of
the MS v
Windows

app]jcations is :
Ctrl + P
Ctrl + X
Ctrl + C
Ctrl + O

35. The power backup device, UPS, stands for -

1) Unjnt_er_n_lgti‘lile Power Supply
Uninterruptible Power System
Under-control Power System
Under-controlled Power Supply

36. Which of the following is not a source of the

virus entering your system ?
1)
(2)
(3)
(4)

Pen drive
Printouts
Email attachment

Hard Disk

Which of the following does not come under
cyber-crime under IT Act 2000 ?

(1)

37.

Misusing personal information over
internet

Using fake email messages to get
personal information

Stealing monitor from a store

Distributing child pornography over

internet

" agm
GT-GE0-2023 ﬁ’%’ﬂ

most pgpula r | 34/

|

17

i (MSwiruclows)’Qf'?;ﬁ'a'“ﬂ:r
g ‘Fd wE F

ety foel @ @ WA S

S S g (UPS) F1 94 € :

Uninterruptible Power Supply

35. TR
7{ 1)

P

®)
(4)

Uninterruptible Power System
Under-control Power System

Under-controlled Power Supply

| 36/ frerferfiga & § & @1 e fawe § 9 F

3 1 TF B 78 € 7

(1) ¥ A (Pen drive)
#2)

(3)

4)

iz (Printouts)
¥-9e aeee (Email attachment)
e fe@h (Hard Disk)

37/ TrefafEd § ¥ 9 @ T & Tee-2000 F ST
T TEal 3Ty el 82

(1) Ee R AfFH FTHRT Hl TEIGM HTA

SAfeder THHM W W F A Tahed
$-T (fake email) HES 1 T HT

et T e O

2T W 9@ Ay wife
(pornography) foaf@ wem

(2)

A3)

R2



38.  Which of the following groups of devices are

only input devices ?

3§/ﬁwﬁﬁ§aﬁﬁmﬁﬁqmwm
T gy feaww (I9w) 772

(1) Keyboard, Printer, Light Pen (1) #1-a1g, fy=z, @mge Lk (Keyboard,

Printer, Light Pen)

(2)  Joystick, Microphone, Scanner S2) wafe®, aEwEIwE, T (Joystick,

Microphone, Scanner)

s P e i — ———

(3)  Mouse, Monitor, Joystick (3) ™R, ", Fafes (Mouse, Monitor,

Joystick)

(4) Mouse, Microphone, Speaker (4) WRE, WEFIGE, TAFT (Mouse,

Microphone, Speaker) *

39.  Which type of network we create when we 39/ 9 ®H 29 (Bluetooth ) & T1eaq § F3 W

connect two smartphones to transfer some I & foe & wrdes =t UG A FAFR F F
photos through Bluetooth ?

T 58 YR & Yead F T E2
(1) PAN A1) d T (PAN)
(2) LAN (2) TATTI (LAN)
(3) MAN (3) THTTI (MAN)
4) WAN

(4) T T (WAN)

40. Which of the following is an example of an fj/ frafafes 9 @ w17 SR frew
Operating System ? (Operating System) %1 W& 3wy 2

(1) Word (1) =€ (Word)
(2) Windows +2) €N (Windows)
(3) Bing (3) T (Bing)
(4) Edge (4) T (Edge)

o)
PGT-GEO-2023 m’%@ 18 a



PART

o\ "
i gffective teaching, by ang Tasgeis UDE / f1é1or
B 15 @ function | 49, q@a:uuﬁﬁrwf'ﬂmm%?
(1) teacher’s positiye atti
teaching, ttude towarqs (1) forser o faren % T FHRCD Ffvfa
(2) teacher’sability to make —
nts lear i
(3) teacher’s honesty. Pieat, 42) ﬁmmmagmmmamqﬁaﬁﬂmm
(4) teacher’s scholarship, | (3) forereh Bt f?%"l *
(4) foers @1 qifed «
. - !
*2. WhICh of the fOHOng 1S not an examp]e of | 42 ﬁ’-:lm a _g ﬂ 'a’-rfu'lm .3; m- F
' Assessment of Leaming’ ? '
Scholarship E e
olar: inati
(1) - St 1PR xamination ) -
(2) ecdota ec‘ords @ we o s
(3) Annual Examination 3) .
(4) Assessment of Homework (4) TEFT F A
p. If students are not taking interest in their | 43. e forenell st Tgr ¥ ¥fd el o | € 1 Fer®
studies, the teacher should : H
(1) file a complaint with the principal and (1) e ik s wa-faa ¥ frrEa w1
parents and seek their indulgence. 3 ST AT Y AT BN
(2) find out causes for lack of interest and A2) A e H ¥ AT & RO HT Tql
take corrective measures. TR RIS TS & |
(3) ask them as to why are they not taking (3) T g el fo ERCER-RIEE 2
interest in their studies. ARE
(4) tell them that taking interest in their (4) % FwgE =eq fR TeE § ¥H 1 ¥
studies would lead to good result. 3T= afuTm e B |
4. Which one of the following is not associated { 44. freifend & | HF W CH TR TEW § Heifed
with a unit test ? e
(1) Totally controlled by the teacher (1) forer g ENCHRERIER
(2) Used for Remedial purpose | 2) STEANEH ‘oFTﬁ ERREN
(3) Standardized Achievement Tests I (@) [aigiﬁ' SRR
. 4 &l difig g
(4) Confined to limited number Of | 4) < A T qRAu
competencies !
A 19
".GEO-2023 g‘% RE
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45.

46.

47.

Which one of the following is not a | 45. ﬁTWﬁ’TﬁEﬁWﬁ ﬁ‘:‘lﬁ_’ll\@ﬂﬂﬁ%‘

characteristic of teacher centred approach ?
(1)

Enough scope for discussion and debate
is available.

Courses prescribed can be completed in
time.

Large sized classes are handled very
well.

Unfamiliar or abstract concepts are
directly explained by the teacher.

Mohan can now think in terms of
propositions and deal with propositions
instead of objects. He deals with sum total of
possibilities rather than empirical situation.

He takes final steps towards versatility in
thought.

Mohan is at which stage of Piaget's model ?

(1)  Concrete operations stage
(2) Formal operations stage
(3) Pre-operational stage

(4)  Sensory-motor stage

The ASSURE model of integration of ICT in
the learning process has the components :
(1) Analyse the content, state the aim,
select method and materials and
evaluate.

(2) Analyse the learners, state the aim,
select the method and materials and
extend.

(3) Analyse learners, state the objectives,
select the media and materials and

evaluate.
(4) Activity, state the objectives, support

and extend.

PGT-GEO-2023 5

|
|
|
|
|
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46.

47,

fergreran =11 & 2
(1) == aﬂiam—ﬁﬁmaﬂqafqaamgm

fafeq weTamqal F1 F99 W I fiy
THA T 1/

AT~

sofifed @it emqd vera fones
He-drg renfya fF s # -

(2)
3)
(4)
e &7 SIS o R H Hre w1 & 3 g
& e Al ¥ SRR W TEA £ 2
FART R e & o GurEed % Ty
TR FA 21 a8 faar F Sopea # 3

FSH I3 T |

A&, fras & wimm ¥ e = frg =

A)  Td EiaTHE st

(2) 3rd dfFarcas stan

(3) Ya-wfsharcs sty

@) sf=3-sf@ THe sEwn

At wfwn ¥ gu ot Wi gt §

T4 & ASSURE SRwM % areaq &

(1) fowrerg =1 faverm, sy o, fif
R Tl = SR e |
A2)  fsiel w1 fovdur, wey i
fafy s wmeft 1 w39 sk fmm)
(3) fermensial 1 forver, st @ fe
AR SR AR e i e
(4) mﬁmmm,mmwl

pl



p

45

9.

50.

which characteristic does not
Adolescence stage ?

belong s

A period of intense emotions

Highly critical of

. Social
injustice

eVilS and

Pronounced groﬁp' loyalty

Forming groups AMONng members of
same sex

What should not be a role of a teacher in the
construction of knowledge by students ?

(1)

(2)

Focussing on realistic approaches to
solve real world problems

Discouraging self analysis and self
assessment

Being sensitive to the previous
experience of each and every student
in the class

Supporting cooperative  and

collaborative learning in the classroom

What is not an advantage of Discovery
method ?

(1)

(2)

It provides training to prepare students
for life.

It develops self confidence and self

reliance.

This method is suitable for the students
of lower classes.

It develops s:c_i:éf';tific and critical
attitude among students.

"T.GE0-2023 m

21

1)
(2)

(3)

a5, fomghi & i G forden T T A €2

e gami a1 T
Wwaw%ﬁmm
9 3 T

TFe E WS

T fein ¥ SAfedl & @Y /et

49. ﬁaﬁﬁﬁmmﬁmmﬁﬁﬁ%ﬁ

50.

F @ gt T B =R ?

1) ST fava # Gwensl % U €
SR SARTH T s L0l

A2) TSN § W I galeded ol

(3) ¥ v faendt ¥ eigeE F uid
LECENISEIS

(4) E-he F wEAT TE Wl ST

T Gad YSH FAT

o fafu A B m ey 7 fm 2 ?

(1) e faenfefai i sfem & fog TR 21
HvTeTOr YE €

(2) THH B ACHIRE™ R AtTRE
forer B €+

@) e fafy S weanell & foenfal & fau
Eepiid

@) T9* g faenfdfay @ defae six
THErETes gl w1 fasm 2 ¥

R2



PART -V /¥Y1-V

GEOGRAPHY / YTie¥ITeA
51.

Which one of the following is categorized into | 51. frefafaa § 4 fagen o amfam % T §
Physica] Map ?

T S 2
(1) Population Map (1) s e
(2)  Economic Map (2) snfifa grfea
(3)  Political Map (3) Tefaw wHfa
(4)  Soil Map A) e At

52.  On which of the following Projection, the | 52. fr=fafes vadi § @ frg w fava & AT #

world map can be prepared ?

ST S WAl € 2
(1)  Zenithal Equal Area Projection A1) THEE §9 g% 94
(2)  Cylindrical Equal Area Projection (2) SEFFR TN 4GS YA
(3) Bonne’s Projection 3) SF¥AY |
(4) Gnomonic Projection (4) it yey |

53. Which one of the following is an average air @ T He W 3ia Eﬂ'ﬂi‘ﬁ' frefafas 9§ § 35

pressure at Sea level ? wRr? _

(1)  1.09 kg/square centimeter | ) 109fRm ¥ g,
(2) 1.11 kg/square centimeter { (2) 111 R wfa =f |,
(3)  1.00 kg/square centimeter (3) 1.00 fr.am. wfa =t &,
(4) 1.03 kg/square centimeter 4 1.03fwm. wfg of g,

54. The spatial distribution of population is best | 54. STHE F Ty foaor fr=ferfiga o @ fres

represented by which one of the following ? BRT Halle Tt & g s &2
(1) Bar Diagram Method (1) < 3w fafy

(2) Dot Method 8 fig faf

(3) Percentage Bar Diagram Method () wfavm g g Fafy

(4) Isopleth Method @) W T ﬁﬁ:{

e
PGT-GEO-2023 [§ 22 R2



; Th? Indian Standarg Tithe i
which one of the following ey

referred - ! 55/ gt ?'ﬁ'@l ,mwm iéﬁFﬁ

Swday | T fafd= 872

1) 72°30'W |

| (1) 720 30 A
(2) 82°30'W ‘

| (2) 82° 30 9T
(3) 72 30'E i

| @) 7230
(4) 82°30'E !

| PR 30 g

s6. South of Himalaya, which of the following is \/ ferer 3 <o § Frefatad § 9 FI = 3AAH

northernmost ?

(1) Khadar g
(2) Bhangar o s
(3) Tarai ¢
(4) Bhabar | 1) W

57 Which of the following rivers is known as / frefafad AR § A fraw TR s &

“Sorrow of Bihar” ? Y H S SR 2
(1) Tista (1) o
(2) Kosi A2)
(3) Gandak (3 T
@ Son % 4

(O}
- 23
PGT.E0-2023 B B2



58. — I8 g flat topped seamount.

(1) Atol

(2)

Abyssal Plain

(3)  Guyot

Mid-Oceanic Ridge

59. “Geography studies the differences of

phenomena usually related in diff

erent parts
of the earth’s surface”. This definition of

Geography was given by

(1)  Alfred Hettner

(2) Ellen C. Semple

(3)  Richard Hartshorne

(4) Vidal-de-la Blache

60. The southern boundary of India extends upto

in the Bay of Bengal.
(1) 6°45'N
2) 5°45'N
(3) 8°4'N

(4) 7°4'N

PGT-GEO-2023 %

&

59,

v

24

(1) e g

(2) TR B

B) frm g

(4) HAA-TREIE heh

"I i % o i F o =g |
wafud qell # fafs=ar 1 om0 20
Y T I 9Rwen B fe=m |

A1) TFFE Tew

(2) Ued H.duw
@) f=e wduH

(¢4) foee-<t-an s

Wﬁﬁfmﬂﬁmwﬁ@:ﬁﬁ
W T i &

Al 6° 45 I
(2) 5°45' I
() 84 3|

4) 74 3|

R2



o)

bl

63.

b4,

. ; hower” i

..Blosbom S. I 18 very much

the cultivation of beneﬁCial for
____-_-_'_""---_..__.

(]) Flowers
@) Mango
(3) Coffee

4) Tea

The forest area covers
% of the

total area of the country according to stat,
e
records.

(1) 24.25
(2) 25.28
3) 22.25

(4) 23.28

During El-Nino, the temperature of water on
the Peruvian Coast increases by

(1) 10°C
(2) 15°C
@3 2°C
(4) 5°C

Which of the following states is the most
affected by flood ?

(1) Assam
(2) Punjab
(3) Uttar Pradesh

(4) Madhya Pradesh

0]
PGT-GED-2023 ﬁﬁ!

>
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63.

1)
)
©)
(4)

1)
A2)
®)
(4)

24.25

25.28

22.25

23.28

| 62. wﬁm%ﬁm%wwﬁﬁ
A S

o, T 3 4 1 FAE E

-t ¥ T € W@ F T R AT

o W ¢ |

10° Sfewad
15° dfcwad
2° Sfewad
5° fewad

64, Trefatad T § @ HF W g § Wity yefad

?7?
i)

G}
LEIC]
I T
e JQWl

R2



65.  Which one of the following regions is | 65. ﬁﬂﬁﬁiﬁﬁaﬁq'mm meﬂ?%
extremely drought affected area of India ? yoiferd & 8 2
(1)  Interior Odisha 9) st sffewm

y
(2) Malwa Plateau (2) AT HT 9K
(3) Karnataka Plateau (3) Alewh BN
(4) Kachch Region of Gujarat (4) TSR F FS &

66. core of tropical cyclone is known | 66, IS Hfesey THA * —  wEwH
as ‘eye of the storm’. "TEM F @’ Fel SR
(1)  Nimbus cloud (1) 99 Fuy,

(2) Cloudless A2) FeRfed
(3) Cirrus cloud (3) vy AW
(4) Cumulonimbus (4) =T TNt %

67.  With respect to landslide, high rainfall and | 67. T % Heo ¥, wfedt ae % = 9y qw
steep slope areas of Western Ghats are GIE] G| M A Ty 1 ¥ @ 5@
categorised in ___ | gl
(1) High Vulnerability Zone (1) i gl O
(2) Very High Vulnerability Zone () oty g &y
(3) Low Vulnerability Zone £3) g 3
(4) Moderate Vulnerability Zone (4) Ao gl Oy

PGT-GEO-2023 5 26 R2



5 ea oOn .k

e

T
Planimeter

Animometer
Rotameter

Clinometer

The visible spectrum of Electroma neti
Radiation (EMR) is between -

About 400 to 750 nm
About 400 to 580 nm

About 480 to 700 nm

When contours are closely sﬁacéﬁ in higher
altitudinal zone and progtessix%ely widely
spaced in the lower altit"ud;:_inéll zone, the

10.

resultant is

Steep Slope
Gentle Slope
Concave Slope

Convex Slope

The land left uncultivated for more than a
year but less than five years is_ termed as

n.

(1) Fallow other
(2)

i~ |
(3) Culturable waste land Py

than current fallow

Permanent pastures

(4) Current fallow

0]
PaT.GEO-2023 %

1

ﬁqa-g‘aﬁuﬁﬁm(wk)mww
______%qupl—ﬂ’ﬂ'ﬂ%l

ST 400 § 700 FAHE
ST 400 B/ 750 FAH
ST 400 § 580 AAHIE
ST 480 T 700 T

mafw%aﬁméaaﬁma%@ﬁmﬁmﬁ
aﬂiﬁﬂ"ﬁﬁaﬁmﬁmﬂmq—gﬁﬁ
FCal IR IS 2 gl

70.

e g

Hg g

(1)
(2)
®)
(4)

e I

T o

o ¥ A affee g O o @ FH 9§ fag

71.

(1) e T i % sfafe T qm
(2) o ST &
(3) Fu g =aed iy
(4) FHAA TR i

b3
!

27 R2



72.  The articles needed by Eskimos in Northern

Canada are provided by
(1) Road route
Water route

Air route

Rail route

73. The total utilisable water resource in India is

only
(1)
)
®)
(4)

1052 cubic km
1152 cubic km
1022 cubic km
1122 cubic km

74. From Gulf of Mexico to North-Eastern states,

‘Big Inch’ is used to transport
@M
(2)
)
(4)

Petroleum
Milk
Natural Gas
Water

75. Broad base and narrow peak of age-sex

pyramid is of
1)
(2)
(3)
(4)

Japan
France

Australia

N igeria

!E%E'E
PGT-GEO-2023 (3

|
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|

o e # TR F SRR F
R ___gm":lgﬂmm'%l

(1) uF it
(2 e

) gE
4 w@wm (]

72.

ARd | el IFANH Sl ETET 7
Tl

A1)
(2)
®)
)

73.

—_—

1052 = feh. .
1152 = feh.H.
1022 7 A,
1122 ’Elﬁ'ﬁﬁ'ﬁﬁ

ﬂﬁmﬁaﬂ@@i’faﬁ? GRG0 S
Y9 & ferg ¢ ﬁn}’a =1 94T fohan st £

_ R

(2)
®)
A4)

R2



b

which one of the following ;
& 18 an gyt
port ?

Manchester
Duisburg
Piraeus

Kolkata

«7. Which one of the following countries is in the

expanding stage of Demographic Transition ?
(1)
(2)
(3)
(4)

Japan
Peru
USA
Canada

78. World’s richest monozite deposits occur in

district of Kerala.
Ernakulam
Malappuram
Kannur

Palakkad

79. The headquarter of North Central Railway

is located in

(1) Allahabad
(2)
3)

(4)

PGT-GED-2023 %

Jaipur
New Delhi

Gorakhpur

77, Sretefion 2l 8 4 9 @ SwAT S B
foraR ST A ® 7

EIEIE]

&
quET

1)
A2)
3)
(4) <

78. fava 4 wed wYg AANRe fET A F
fitem B 9 S R

A1) e

79. ¥ fem

29 R2



d by NITI

80. Plannjng Commission was replace

Aayog on

(1) 1 Ianuary 2016

(2) 1 April 2016

3) 1 January 2015

(4) 1 April 2015

81. port is situated at the head of

Vembanad Kayal.

(I) Kochi

(2) Kandla
Marmagao

)

(4) New Mangalore

About % of the coal deposits in
India is of bituminous type.

82.

1 75

(2) 80
@) 65

@ 70

‘%E
PGT-GEO-2023 @

80.

| 81.

82.

30

(1) 1 mEd 2016

2) 1 @ 2016

(3) 1 TRt 2015

@) 1 3¥a 2015

. T AT FA F gy o
A1) FE

(2) IS >

(3) WM «

(4) AR -

WA H e A o e ¢

fagfufrra wem = &)
1) 75
(2) 80
(3) 65
4 70

pl



8.

PQ o)
T-GED-2023

.

& 'haracteriSt‘iCS, took a cyCle tube

reacher,  while explainip

air
’ puﬂ\ped air
to press the

ined by this

;ntﬂ it and asked the studentg
s most apPTOpriately expl,

) Cycle tube is expandable,

0 Tube may burst when excess ajr i filled

(3) Air is visible.

(4) Air is compressible.

It is known that the Ganga River is much
Polluted at Kanpur due to leather industries.

A team arrived in July to verify but could not
find high pollution. Which is the most
appropriate answer from the following ?

(1) Due to government initiative, pollution
is controlled.

(2) Due to error in the observation of the

team members.

(3) Due to high water discharge, pollution
is diluted/removed.

(4) Due to control of directly discharging
polluted water in the river.

The structure of school learning time included

in New Education Policy 2020 i —— \
(1) 4+3+4+4 years
() 3+4+4+4 years
(3) 3+5+3+4 years

(4) 5+43+3+4 years

83, fu 3 A A A

T wfRa w1 g9
3R foemfefa hr wTqL T TN S et
fiore a1 e B0 sl

Tl e AT €

(1) el F g foa €
) ﬁwa&qﬁnggwmﬁl

(3) IGTHEEI
4) @ g R

— R R R
e T T e W & | e H O & el
3 for g, W GG A T
Frefffiaa & & B O G IH IHE?

1) et vEe @ g o R g €
2) =@ ¥ ged % Froeo § Ff F IR~

(3) ofus 9@ TE@ & FRO IGTN FH
/e e SRl

(4) wofia o w1 €9 7 F warfed FH W
foisor & FROTL X

g5/ fomrem & HEn & A &1 weE @ T e
ifa 2020 ® @ T R

(1) 4+3+4+4 T
() 3+4+4+4 e

(3) 3+5+3+4

A4) 5+3+3+4 99
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86.

87.

88.

According to New Education Policy 2020, the
8T0Ss enrolment ratio in higher and

Vocational edycation is expected to reach
50 percent by

2035
2040
2025

2030

A research team observed that landslide in
the Himalayas is progressively rising over
time. Which one of the following could be the
best reason for the same ?

(1)

Human activities are on increase.
(2) Lateral erosion of tiver is high.
(3)  Rainfall is on rise.

(4)  Mountain slope is stable.

A team of geography students visited Ladakh,
They were trying to run on a flat horizontal
road, but they were getting tired and not able
to run very fast. Which one of the following
is the most appropriate reason for the same ?

(1)
(2)
(3)

Due to high level of pollution in the ajr
Due to low level of oxygen in the air
Due to very low temperature

Due to glacier in nearby areas

(4)
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87.

88.

¢ #mwrﬁﬁmozo%mﬁ@

frgn # W THF sy
aF e I 3Ty §,

oy

() 2035

(2)
(3)

2040
2025 ¥ |
(4) 2030 |

qmqﬁqﬁﬁwﬁmﬁg{:@m%:
ST FHROT B FohalT ¢ 2

(1) wretg Tfafafiar sg w@ $)
(2)
®)

(4)

T 1 Wd werm et 3
o1 H S & W@ | x
qa‘enwaﬁﬁfbn‘é‘a X

W%WW@WWWI q T
A e W et Wi @ 9, T
" 3¢ A R W 3 Sy F gam G )
mﬁﬁ%@aﬁﬁaﬁ?mmww

7
(1)
&2)

(3)

E S TG 1 T aiferes 2 5 A
B SIS 1w v 2 A A
BRI (i 2 B CEpe—

(4) ST % &5 4 fewrfa 3 R0
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N Itl)a':ht_:l' aSked the Students tO r
ecapitulate

| lh o growth of plants they ygeq to ob

‘,carly c}:cle. Which one of the foll, el

;;ol'fed about ma)ﬂmum growth of ;‘li::tg 'i)s

- S !

() In monsoon ]Itonﬂls due to high
temperature andhlgh rainfall :

In autumn mon@hs,f_ due to moderate
temperature Tahd

()

P moderate
precipitation

§)

In winter months, due to low
temperature and high relative humidity

(4)

In summer months, due to high
temperature and high photosynthesis

90. Which of the following existing programme
will be discontinued inNew Education Policy
2020 ? Y
(1) Ph.D.

)

)

(4)

Post-Doctoral
Diploma

M.Phil.

91. Upto which grade, the teaching in mother
tongue is most preferably be adopted
according to New Education Policy 2020, if
possible ?

(1)
(2)
@)

(4) Grade?3

E
PGT-GEO-2023 %

Grade 4

Grade 5

Grade 2
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89. @ﬁxﬁﬁﬁﬂﬁq’fﬁwaﬁ%wﬁw
mfﬁﬁ*ﬁ?ﬁqﬁéﬁmW%mmi
ﬁﬁﬁﬁmﬂ%#ﬁaﬁﬁﬁwﬁﬁaﬂﬁﬁ

(@) T & T H = A ol 3= T

o1 e g &, A 7 fren A 2020 % FIER FFH
T ek g & freror oht wer stfreh et
& st 2

@)
A2)
3)
)

<hEll 4
HE 5
hET 2

el 3
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92.  All students will take school exa

Minations in
grades ___

————_ conducted by the
appropriate authority

Education Policy 2020,
(1)
(2)
(3)
(4)

according to New

2,5and 8
2,5and 7
3,5and 8

3,5and 7

93. Who among the following is NOT associated

with plate Tectonics ?
(1)
(2)
3)
(4)

Parker
Morgan
Mckenzie
Ortelius

94.  Which one of the following is NOT a minor

plate ?

Philippine Plate
Cocos Plate
Arabian Plate
African Plate

95. Which one of the followin

landform formed by volca
(1)
(2)
®)
(4)

8 1s an extrysjye
nism ?

Sill
Cone
Batholith

Lacolith

| 92. :,gﬁmq‘)ﬁzozo%a@nm%
! Tiren | HE E\m
|

2,5 4 8
2,5 &7
3,538
3,5%R7

1)
(2)
(3)
(4)

F/ﬁmﬁﬁaaﬁﬁaﬁw@zﬁaﬁﬁmq

A

(2)
3)
e

yﬁwﬁ-—,r@aﬁamaﬁ@zﬁp

FHH @

(1)
(2)
®)
“4)

o

1)
£2)
()
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g6. During which one of the following epochs,

Homo Sapiens appeared on the earth ?

(1) Oligocene

)

Pleistocene

(3)

Palaeocene

(4) Eocene

97. Under which one of the following state of

matter, the rocks of asthenosphere is lying ?

(1)  Semi-solid rocks

Layerised solid rocks

Solid rocks

(4) Liquified rocks

98. Which one of the following is the fastest mass

movement ?

(1) Rock-slide

(2) Rock-fall
3) Rock-slump

(4) Debris-slide

34
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96. Treferfn T 4 4 vl 9o T st A

\9%

98.

R T TP ——— o

35

A2)

ST g1 2
(1) g
iyl Tl
() T v i
(4) enfega » -

gIdAAHUET (asthenosphere) ) F1 EFd
feferfag T 1 saeensd § ¥ fEEd 9@
et 7 ?

) e =g
) % w9 H 3 =g
(3) JrawEH

e g

frfafed § ¥ we@ demfd aren geq §9n
FIAWMR?

1) I & fEg
¥ I
(@) I "ueH

(4) I vt &1 fag
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99.
Physical Geography ?
(1)  Tourism Geography
(2)  Population Geography
(3)  Agriculture Geography
(4)  Soil Geography

100. Which one of the following is an active factor
of soil formation resulting into its fertility ?

(1) Climate
(2) Time
(3) Parent material

(4) Topography

101. Which one of the following is just like an arm

chair ?

(1) Arete
(2) Col

(3) Cirque

(4) Spur

102. At which one of the following heights, the
availability of oxygen in the air becomes almost

negligible ?

(1) 140 km
(2) 160 km
(3) 100 km
4) 120 km

PGT-GEO-2023 %

Which one of the following is a branch of ‘ 99.
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prfia # 3 A A g,
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Ffa el
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100. g1 Frafor 1 9 WHT FE o 5
7 @1 ¥ FEd o § 9gad 2t 8

1)
(2)
®)
)

/

Serarg
HAEY

o T
TR

of. ffafea 4 § =7 @1 & omm 56 1 =
e ?

(1)
(2)
A3)
(4)
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(1)
(2)
®)
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104.

105.

o)
PGT-GE0-2023 %@

i e of th : .
3. Which on e following regions receiveg

maximum insolation on the earth 2
(1) Subtropical Desert Region

(2) Temperate Region

3) Equitorial Region

(4) Subtropical Ocean Region

Which one of the following is a low linear
and parallel ridges along a large rivers in the
plain ?

(1) Sand bars

(2) Meander

(3) Natural levees

(4) Point bars

Ozone layer is found abundantly within
which one of the following heights from earth
surface ?

(1) 15 km to 60 km

(2) 22 km to 67 km

(3) 7kmto 37 km

(4) 10 km to 50 km
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104. &S

tiyon TEEEta A
yireTen &3
qaATE A

34y TrTE &5

Hﬁ?ﬁa’:m%ﬂﬂﬁ,ﬁmﬁwﬁﬂ

%ﬂﬁﬁn‘mﬁtmﬁmﬁi@ﬂﬁﬂaﬁq%?

(1)
@
0

4)

o1e] Afersht
ECUREEE]
Jrehfaesh qesitd

fearadt Aferent

105. gt ¥ wag ¥ Frefafes F=sd § 8@ fFe9
SIS A gaEd ®9 F 9 A T2
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()
()

9
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106. Which one of the following conditions is

Suitable for inversion of temperature ?

(1) Clear sky and calm air

(2)

air
() Long winter night and clear sky

(4) Long winter night and calm air

107.
applicable for the Continental Shelf ?

(1)  Three degrees to five degrees
(2)  Five degrees to seven degrees
(3) One degree or less

(4) One degree to three degrees

108.
exceeds precipitation ?
(1) Warm Temperate Climate
(2) Cold Climate
(3) Tropical Climate

(4) Dry Climate

PGT-GE0-2023 &

Long winter night, clear sky and calm

Which one of the following average slopes is

1
\h/

In which of the following climate groups by | 10
Koeppen'’s, potential evapotranspiration

38

%/Wﬁﬁm%mﬁﬁﬁﬁ@a
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107. e e & fer Frfofen s e 44 4,

1 I9GH B ?

(1) o feht & o= ferf »
(2) = feft @ um feft «
B) & felt mwww

AY) & felt ¥ i ferft
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. which one of the following is a low island

109. @mwa@wm&aﬁeﬂmmwﬁﬁﬁm%aé

found in the tropical oceans with brackish

A | At gy Foretforfaa # & FH A €7
(1) Atoll _ () e A

(2) Oceanic Rldge (2) TEEHA FF X

(3) Guyot e (3) Fre g

@) Seamount (] @ R E

110. Which of the following types of rainfall is | 130. yme & | frefatad & & ° TR F

common in equatorial regions ? F6f QT © ?

(1) Convectional k) BECEIR]

(2) Both orographic and cyclonic () T SR shardrd 24 &
(3) Orographic (3) TEdE

(4) Cyclonic (4) =AM

111. Coriolis Force {s-absent at which one of the 11% geat ¥ Frefafad & # q T W HfEad

following zones of the earth ? o el B § 2

(1) Near 66° 30! North or South latitude (1)  66°30 3T AT SV F SHAE
(2) Near Poles._i;f"'- | (2) YAl % AEIH

(3) Near equator A3) YL@ & I

(4) Near 23° 30' North or South latitude @) 23° 30 IW &A1 S ¥ SEIH

112. Which one of the following is NOT a type of

112/ Frefafes § § 9 91 STR- 9T TR & © 2
tide ?

(1) Neap Tide 1) = SR

(2) Spring Tide = (2) TSR

(3) Diurnal Tide! ) @) 2w R-u=
(4) Quarterly ’}1?13 | A4) < SR- e
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erefafead & @ fFEA ‘arg o
113. Who among the following created the iy N

‘Human Development Index’ ? ? : : W
1) Manmohan Singh (1) HAEEd fae

(2)  Brundtlang 2) wede __

()  V.LS. Prakasharao 3) . T, T, HFRI

(4)  Mahbub-y] Haq 4) W—W.W

114. Which of the following countries has the jj}/ frefafed <9 o | fFes! Sgey RECE N

largest population ? 2

(1) Brazil 1) S

(2) Nigeria (2) TESEr -~ G

(3) Indonesia (3) TRl - Y

(4)  United States of America 4) T maqﬁﬁam -

115. Which one of the following is the latest | 115. WHg fasra &-sfrer o fretfofaa § 4 ane
development in human history ? T R?

(1) Industrialization

(1)
(2) Biotechnology )
(3) Sanitation 3)
(4) Information and Computers @) = sk ey
116. Which one of the following turns the organic | 11, Frefafes ¥ @ 2 o 34 waref =y firght #
matter into soil ? )
(1) Omnivores (1) e )
(2) Decomposers e "““E?
(3) Herbivores o) w

(4) Carnivores

@ e

% f:__ "
PGT-GEO-2023 40 R




_ which one of the following approaches of

" puman development is assoc 117, Freffies ama fake % S A 3 fegd
Jume Ssociated wit 5
Amartya Sen ? ith Y 37 B 1 A I R

Welfare A
(1) pproach ‘./(1)

(2) Income Approach (2) 3Mg SUFTH

(3) Capability Approach (3) &I YT

(4)  Basic Needs Approach (4) STMURYA AR 9

18, Which one of the following is NOT a Shifting W Q1 T i) TG €2
Cultivation ? i
(1) Milpa | (1) fore
(2) Ladang ) wwEm
(3) Slash and Burn | (3) A 3R T
(4) Kolkhoz A4) OGN

119. Which one of the following is the eastern 119. W-m@awﬁﬂgﬁ'{ FH 9 ©IA
terminal railway station on Trans-Siberian frafafea A ¥R W E?
Railway line ?

(1) Chita | (1) fa

(2)  Vladivostok (2) Afear=S

(3) Moscow (3) H=HI

(4) Novosibirsk (4) Aefefawh
PGT-GEO-2023 Z‘% a1
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120. Which one of the following comes under
tertiary activitieg ?

(1) Financial Banking
(2) Policy Formulators
(3)  Decision Makers

(4) Consultants

121. Which one of the following is an agro-based
industry ?

(1) Paper Industry
(2) Timber Industry
(3) Synthetic Fibre

(4) Cotton Textile

122. Which one of the following is known as truck
farming ?

(1) Dairy Farming
(2) Mixed Farming
(3) Viticulture

(4) Vegetables

123. High-tech industries regionally concentrated,
self-sustained and highly specialised is known
by which one of the following ?

(1) Megalopolis
(2) Conurbation
(3) Technopolis

(4) Metropolis

! 12(’}/mﬁﬁﬁm?fﬁ’qmw§“
;x a8 ? iy

! (1) ifeeh e
i (2) Hifa faufs
l (3) foofaaat

% (4) THEET

i

121, Frerfefaa 3 & =1 @ Ffy TR i 3,

(1) T &M
(2) TERE THS T
(3)
VOB ki

§122 frefafas 3 & fras w s Fmis
! ST R 2

(1) SHFH

(2) fafaw iy
(3) R F Wt
M) TS H et

123, wﬂm’tﬁﬁma}vﬁﬁmﬁﬁﬁ;
At stk o fafyrsean forg g ¢
ot § 9 gy grr o a0 &7

(1) e
(2)  FEH
(3) e
(4)  rifer

% H,
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4. Suez Canal joins which of the followi
1 water bodies ? L

(1)
(2)

Red Sea and Arabian Sea

Red Sea and Indian Ocean

L1}%

& T Fretfrfiae 8 @ A @ @ @ A
STt €2

(1) e arR SR T

(3)
(4)

Mediterranean and Red Sea

Mediterranean and Atlantic Ocean

|

125. Which language family has the largest

speakers in India ?

(1)

Sino-Tibetan

(2) Indo-European
(3)
(4)

Austric

Dravidian

126. Which one of the following river basin is

northern most in terms of their location ?
(1)
2)
(3)
(4)

Godavari River
Narmada River
Krishna River

Kaveri River

127. Which one of the following towns belongs to

administrative category ?

(2) o EnR e feg T
J3)  ESIEIR T A JE

(4) TR SR e T

125. o ) ) e o o e e
amE?

(1) “rh-fe x
Q) wRdE-FEE
(@) e
A4) FfaE

126/ Frerferfam e 3 & vt feerfa % STgER W
IR H P o srafed 22

(1) Tiemed 7
A2) T T
(@) FAR
(4) wEd T

127, Tretefaa Tl § Q i 91 W ot | miea
R ¥

(1) Chandigarh Al S
r— (2) TR
(3) Varanasi ©
(4) Katni - =
;
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) aEfad K
128. Which one of the following scales on a given | 128, W& fa! ; f:ﬁff ?mf;% TR
map remains the same when it is enlarged or l frefefea i E\'?"

reduced ? ) L&
(1) Graphical Scale i (1) e A

(2) OId Scale i () g A

(3)  Statement Scale (3) SHYATHE HITH!

(4)  Representative Fraction Scale (4) frews = T -

129. Which one of the following National @ Wﬁﬁgﬁ?'@ﬁﬂﬁmm?{awpﬁﬁ#

Waterways is the second longest in length ? FE A TH WA W [

(1) National Waterways 3 (1) T e 3

(2) National Waterways 4 (2) U Semmi 4

(3) National Waterways 1 (3) UK Semmi1 - SATEDTS ~ g1
(4) National Waterways 2 (4) T Femnt 2

130. Which one of the following is NOT an ;
objective of Namami Gange ?

130. Trfafed § & 9 o iy i | 2@ @
(1) Development of river front (1) i 5 R

(2) Cleaning of the river surface

(@) A ¥ 7w )

(3) Construction of embankments

() T fgio

(4) Monitoring of industrial effluents

(4) ST ware 3 fopmert

i
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PART - v

31. Fillin the blank in the fij{ey: '
L help of given o;' ollowing sentence with

. tions.

e train was about fg :

_— there. b lgave the station when
(1) reached :

) |
(2) Thave reached ;
(3) had reacheq
(4) would reach

132. Choose the option in which the following

sentence has been changed into passive voice.
His attitude vexes me sometimes,

(1) T am vexed at his attitude.
(2) I am sometimes vexed at his attitude.
(3) Tam vexed by his attitude.
A4)  Tam vexed by his attitude sometimes,

Y

Directions for question I'ﬁl_]':?&l‘ 133 to 135 :
Fill in the blank in each of the following sentences with
the help of given options.

e
F & %

133. Nitin as well as his fneﬂd Ramesh

coming to the party. .. -
(1) were .y
(2) have been
(3) s
(4) are N

134. Today, the need of common man

iust bread and butter.

(1) was
(2) were
(3) is
(4) are
138. Mrs. Kanwal is Principal of this
school.
) the
(2) no article
e a N)
4) an (L
5
PGT-GEO-2023 i 45

136. Choose the option in which the following

words/ phrases have been rearranged to form
a correct sentence.

(A) people gave
(B) President

(C)  him support
(D) him

(E) having elected

(1) (©) (B), (A), (D), (B

)
(2) (E), (D), (B), (A), (O~
(3) (A), (©), (B), (E), (D)=
4)  (B), (D), (©), E), (A)x

Directions for question number 137 and 138 :
Fill in the blanks in the following sentences with the
help of options that follow each of them.

137. Can you tell me how the accident ?
(1) came up x
(2) cameby ¥
£3) came down

(4) came about

138, The witness will
(1) bear out
(2) bear with
(3) bear on
A4)

__ what I have said.

bear up

139. The troops were ordered to mobilise .

Choose the word which is nearly opposite in
meaning to the underlined word.

(1) convene
(2) lineup x
(3) retreat
(4) dismiss v
140. He delivered the speech with great aplomb
Which of the following words can correctly
replace the underlined word in the above
sentence ?
(1) apprehension
(2) disquiet «x
(3) diffidence x
(4) confidence

R2



PART - VI

GENERAL HIND!
. ./?/f ' ﬁ@ﬁmmm
U WG 141 F 143 % ford Pl | e T
F ‘ ’ f2) "
TI% I T |
. et et | (3) FEEH
T ST S ST AT 41 A B A bt y T
& o fom w wom @ g aw A A wen | 0 ° |
mﬁaﬁwﬁmqﬁm—ﬁm%aﬁuaﬂiﬂﬂﬁgl .ﬁm@@aﬁﬁmﬁw-g@ﬁ%%l
B ¥ - A Fow o & e gg7 A W B ¢ (1) j%rg—qﬁ;“
a@ﬁamwrﬁﬁwaﬁﬁ%mﬁ@%ﬂi%ﬁ! £2) w
T ¥ | e el e B wiE et I (4) go-fE -
T T 3
T:aﬁ'cﬂ%’l yimﬁ@aﬁmmwlmhﬁﬁ
14y, fFas! ofiwe S0 939 Tea 3R T T8 LT h
- RITE? i (1) g
1) &< syEl it (2) S AES
(2) wES srgufear ht (@) e
(3) wfes § =g (4) ﬂTf'aW
142 S99 R F% FT STt & 98 FH0 I (1) W
(1) wERE R @ A=
(2) itfceRt & B ¥ f(fi; :jf'ea__’?qli‘
4) frweE@z 149/ frefafea & fot gfr aren v &
(1) wsH
143,/ FE0N 3 A1 T 5 FE01 FH T e 37 Q) v=Rw it
2 o @) ﬁ&_g.’__)_'j' b
(2) B Ly Frefafes o waft @ wafmar @ ¢
(4) <Iq 1) T o
144, * 379 %1 A" e 1 WA e ¥ . f2)  fafrer
1) Fqu A () “efew -
(2) fogH F1 3¥H (4) ‘"33/
A3) €
(4) ?wf@ﬂlﬁﬁ i -00o0-
f
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